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Wasserdampftafel / Steam Table 1 - 60 bar

t v" h* r
*c | m*/kg | kgl/kg | kgl/kg

143,6 0,4622 2738 2133
1454 0,4415 2740 2128
147,1 04226 2742 2122
148,7 0,4053 2744 2117
150,3 0,3894 2746 2112
151,8 0,3747 2748 2107
155,5 0,3425 2752 2096
158,8 0,3155 2756 2085
162,0 0,2925 2759 2075
1650 0,2727 2762 2065
167,8 0,2555 2765 2056
170,4 0,2403 2768 2047
172,9 0,2268 2770 2038
1754 0,2148 2772 2030
177.7 0,2040 2774 2021
179,9 0,1943 2776 2014
198,3 0,1317 2790 1945
212,4 0,0995 2797 1889
2239 0,0799 2801 1839
233,8 0,0666 2802 1794
242,5 0,0570 2802 1752
250,3 0,0498 2800 1713
257,4 0,0440 2798 1676
2639 0,0394 2794 1640
2756 0,0324 2785 1571

P t h*
L bar | °C kgl/kg | kg
1,0 99,6 2675 2258
1.1 1823 2680
1,2 1048 2683 2244
1,3 1071 2687
1,4 1093 2690 2232
1,5 1114 2693
1.6 1133 2696 2221
17 1152 2699
1.8 1169 2702
1,9 1186 2704 2206
20 1202 2706 2202
24 1218 2709
22 1233 8 2711 2193
23 1247 2713 2189
24 1261 G 2715 2185
25 1274 2716 2181
26 1287 0. 2718 2177
27 1300 2720 2174
28 1312 2722 2170
29 1324 2723 2167
30 1335 _ 2725 2163
32 1358 2728 2157
34 13729 0, 2730 2150
36 1399 05103 2733 2144
38 141,8 04851 2735 2139
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Umrechnung von Druck- und Warmeeinheiten / Conversion of Pressure- and Thermal units
1 bar = 100000 Pa 1Pa = INm?_ 1 W = 0,8598 kcal/h 1 keal = 4,1868 KJ
1 mbar = 0,75 Torr 1Torr = 1,333 mbar 1 keal/m2h®C = 1,163 W/maK | 1 keal/h = 1,163 J/s
1 bar = 1,02 at 1at = 0,981 bar 1 W/m2K = 0,860 kcal/mZh°C | 1 kJ = 0,2388 kcal

1 bar = 14,504 psi 1psi = 68,947 mbar
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